H & 0l & AHS B Ml A

H SR 2024-01-02 15:11:32

A B2
B RgE g As)
el XIS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SR 130,813,544 131,439,604 626,060
= 35,677
[ 26,704
Jl 25,500
< 361,777
Al 130,363,886
ALHE Ag 235 12,365,431 9,335,264 3,030,167
= 356,677
= 95,874
Al 12,233,880
Ax s 614,140 479,492 134,648
= 32,943
Al 581,197
ANE2Z 413,254 287,002 126,252
201 er2 3| 223,660 207,600 16,060
01 AtR2te|HI 62,260 56,600 5,660
O+ 39,740
OANEEY g2 8,000,000 8,000
OAlRle] & &g 6,500
-og M 2,500,000& 2,500
I8 M= 1,500,000 1,500
-E2= MH 1,000,000 1,000
-~ oIy 1,000,000 1,000
—=af A 20 2 500,000 500
OAl2l HE¥ES M& 3,500
-HE AHOoIA MH 3,200,000 3,200
-HEE =X M 300,000 300
oMLY EAND 75
1,000,000 1,000
OANBLH3 =& 1,500,000 1,500
OSXIA 22 BABE 7Y
800,000& 800
o3lold =+ 1,200,000 1,200
OXYXtaltl 22 2= M
2,500,000& 2,500
OR+=323d HHES 7Y
1,200,000 1,200
OANEER Oz 7Y
2,340,000 2,340
02239 2d(F,AHR U= S)
1,200,000& 1,200
O0IsEgs 2tg =5 78
1,000,000 1,000
Oxletgolsl 28 28 7Y
1,000,000 1,000
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SA - B SRIBH) - MRAR - BAS A HIDEZ
< 2,250
Al 5,250
01 At2tltl 7,500 7,500 0
O3] 7,500
O2Fcl st A&
200,000 %53 1,000
=S 300
Al 700
O=2+wcl sty EE2S8 S A&
6,500,000 6,500
S 1,950
Al 4,550
S|y AR 2gac 1,488,619 1,334,358 154,261
ClArZe] 1,488,619 1,334,358 154,261
101 @12A4H| 642,845 565,332 87,513
MU OIIRNZZ2NSES 642,845 565,332 87,513
O=4 - FO0IFA S SIUMALH 583,343
oJlZ2s 78,8802 x20H x222 x 12 416,487
o= 23X =¢
78,8803 x20H 6L * 122 113,588
O4UEE (=2, A4 &, 1 &)
4,439,0003 122 53,268
OANEEAZ HEES ZAH2IZL 59,502
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78,8803 x2H x298L! 47,013
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O4HEE (R, A, &, 18)
280,000 «2H 122 6,720
201 et 3| 302,615 211,801 90,814
01 At22t2l] 217,007 178,301 38,706
ER=lest=ull 149,158
OQIA R 9,000,000& 9,000
OgdHES 78 300,000 43 1,200
ogda FAF ME 100,000 122 1,200
ogXa oA F=J| SX & BB uE
40,0002 x 12«20 A 960
O3Fd HFY & S M
2,000&#1,200% 2,400
OXNAYRE A 10,0002 %2,500% 25,000
OFEE x| 600,000« 1H* 122 7,200
OMXESRAS UHHIE
15,5002 300 4,650
oxd & M 9,500 *120H 1,140
OEIMA Elya] AN M
35,0002 x58H 2,030
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FA: SF
B K|gE g As)
=9l used EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N EICHEETEE 20,000, 00024 20,000
ON@ A3 9IS WK
120,000,000 120,000
Ot BR& 22 uW=s 20,000,000& 20,000
ORAE FIEt DR(ZE)
60,000,000 60,000
0282y 4,600
ONHDE SE AAsg
1,000,000 *432] 4,000
OXMDE Lot YM4T
150,000 42 600
202 04l 526,000 536,000 10,000
04 =NI2t01H] 84,000 44,000 40,000
Ot (63) HAAH
7.,000,000& *10H 70,000
SdcHE o=+
7,000,000& »2H 14,000
05 SR W0 442,000 492,000 250,000
O32& w0l 442,000,000 442,000
[=ESELES 704,605 804,332 ND9,727
Aol 704,605 804,332 N99,727
201 er23| 3,005 2,732 273
01 At2teltl 3,005 2,732 273
O eS| 2,005
odgild gR=A 2,005,000& 2,005
O=EH| 1,000
Odglla 2= 1,000,000 1,000
202 04l 1,600 1,600
01 =LHAHI 1,600 1,600
OEEEERSEESS 1,600,002 1,600
401 Al&HIZ S HY] 700,000 800,000 100,000
01 Al&H| 695,59 794,960 £99,370
OdE0E M 700,000,000 *99.37% 695,590
03 Al 20HHI 4,410 5,040 A630
OUELIE At 700,000, 000& +0.63% 4,410
Helg= 4,724,931 1,501,939 3,222,992
= 35,677
== 62,931
Al 4,626,323
Mg 421,480 463,640 A42,160
201 2= 49,600 52,640 A3,040
01 AtR2t2lt] 14,600 17,640 23,040
Ot~ 9,000




FA SR
M gy A9g Hal
chel: tHelge (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O=Ue NHEAILNE JRFA
1,000,000 1,000
029 LENREX SLH} M
1,000,000& 1,000
O0=2 fSWIRFEH A
2,000,000 2,000
O=U THEAl g2 0183 28 & X
At 5,000,000& 5,000
O=3+g 5,600
oA N THAIR! E8 ARS &4
5,600,000 5,600
02 3224l 10,000 10,000 0
O&= AI=XA €23 262
5,000,000 5,000
OF2 H=SNRE NLEPHIS 29
5,000,000 5,000
03 HAH2ZHI 25,000 25,000 0
O=U NHRSEA & UF
6,000,000& 6,000
0=2 RISEA| EE WFE
4,000,000& 4,000
OBIHTH AR EE A== JHE
15,000, 0002 15,000
202 044l 302,880 342,000 A39,120
01 =LA LI 2,380 2,000 380
O=U2 nx ARFE 2,380,000& 2,380
03 =220 170,500 210,000 39,500
O3 2 OISR, =M, =
HEAL S) 150,000, 000& 150,000
02=¢e XY Rgs
10,000,000 10,000
OXEEEH &85t 10,500,000 10,500
04 =XI=toib] 130,000 130,000 0
OSRY IRsHE 28 od(HE AIF,
2 =T S) 130,000, 000& 130,000
301 LeEN= 69,000 69,000
08 212tI=2| (4| 38,000 38,000
O=H RS ANE L2 =H(FM =S,
23, EAHI0 S) 38,000,000 38,000
09 2ABI=HNHI 25,000 25,000 0
O=U2 REEANUT Y2 & (3N,
M=, =22 8AHO0 S 25,000,000& 25,000
11 HAIMHIXIZE S 6,000 6,000 0
O=UH2 XIRSEA SESE2LE
6,000,000 6,000
ARIEHHESKIA 186,900 164,300 22,600




A B2
B RgHE g Us)
Sl U285 EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 8,000 8,000
03 Ar=EHI 8,000 8,000
OXHASAL g 23t 8,000,000& 8,000
301 LEtE N = 178,900 156,300 22,600
06 A=2HUHAHIXE 163,000 140,400 22,600
OXs28l 2gHl XA
100,000,000& 100,000
OXsgel =4l X&
150,000& 420 63,000
11 dALEEIXIZE S 13,900 13,900 0
O ASAHA 28 IR BH(SH &AL S
) 3,000 +1,800& 5,400
O3 & THe SUuSsU S 22
100,000 45 4,500
O SAN T IO 24
10,0002 400 4,000
14 IIEt2d3 2,000 2,000 0
L= ARIEH KE2e| 2
100,000 %10 1,000
O+ TEASALA 24
100,000 %10 1,000
Helgsaas 39,670 40,358 688
201 Ler23 | 22,770 21,258 1,512
01 At22t2lt] 7,820 6,308 1,512
O3] 3,940
Olgs HR2FA 800,000 800
OEH=II 2L (HAF HSE)
5,0002 %100 500
0=Zd 337l NS s82(+%)
66,0002 «8IH A= #52] 2,640
Ol 3,880
Oolgs H2Fd 1,000,000& 1,000
O=3d¢ JIZJ| HL2RA 24
2,880,000& 2,880
03 A2 I 14,950 14,950 0
OXNESAL NSNS M
5,000 #5002 2,500
OAM3IEHH S 8A XIE 6,750
oI+ M= 5,000& »5002 2,500
O&=2 M& 50, 000& *20K 1,000
OO XI= 4,000 5004 2,000
OEE=EE S 2,500 *500H 1,250
OARIEHH S Al2I22tA X1
300,000& 19 EHS 5,700
202 04| 2,000 1,400 600
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SN BRD
B RgHE g Us)
chel: tHelge (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 =WO4bI 2,000 1,400 600
O " gRFa 1,000,000& 1,000
OALSIEHH 22X E 1,000,000& 1,000
206 =4l 14,900 17,700 A2,800
01 =l 14,900 17,700 A2,800
OJt2)] ZOIME(AF L WHl)
22,0002 1004 2,200
OJt2)] 2 (2H,AS2E)
10,0002 *30074 3,000
OHI=0] 20201 & 2HIIE)
5,000 *8007H 4,000
OSHE 2EY B=2D| FU(SHS THHHE)
300,000& 19SS 5,700
ASIEHR 8% 318,936 393,933 AT4,997
307 212+01 A 228,936 333,933 A104,997
02 QIRHEAAIH B = 126,958 200,583 73,630
O=s ISH S| 23
33,840,000 33,840
O30=eg=2= 11,400,000 11,400
OXNRLUF=F2 =5 ALY 9,000,000& 9,000
OGS X TR X3 A 27,000,000& 27,000
OXUYEE Y JIFENNII| 2
14,400,000 14,400
OXY sS4=E g2 L SAM
10,000,000& 10,000
OZSAZ OtS0H2 MARHSD|
7,000,000& 7,000
OCHEZHN &S, HHUNRS] SA
6,318,000& 6,318
OUor 8H AlBI2S AIZER
4,000,000& 4,000
OXHZAZAl sS4t2 28
4,000,000 4,000
03 QIZIEHXNHE2GHIEX 74,636 71,703 2,933
OZHAl MOtS3l 24 30,000,000 30,000
OMOIE OlsEA2 24
15, 152,000& 15,152
OHIEAAD|2Z 23 AR= 29
8,877,000& 8,877
OXNFEAUY AIRS 29 8,607,000& 8,607
OMe=ols AR= 29
12,000,000& 12,000
04 QIZISHAAIZS E X 27,342 61,642 A34,300
OZHAILID EHole SLSUS
8,892,000& 8,892
OABLHE JINISYLHNSS I8 A
5,500,000& 5,500
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A B2
B RgHE g Us)
chel: g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSA=3 022 & & &M HAl
4,950,000& 4,950
ONMgz0le S5 HUFHAL S A
& 8,000,000 8,000
402 2I2F X201 & 90,000 60,000 30,000
01 QIZHAFZAII B (KRN ) 90,000 60,000 30,000
ORSLHH =2XY X2
60,000,000 60,000
Ol =X N2 30,000,000& 30,000
N SAE AR (HRSAL 288 X)) (EX) 5,032 5,654 N2
= 2,516
= 1,006
Al 1,510
307 elztol & 5,032 5,654 N622
= 2,516
[ 1,006
Al 1,510
02 2B A HE L 5,032 5,654 NB22
[ DIt =d 5,032,000 5,032
= 2,516
== 1,006
Al 1,510
NASAZ LS (A2 SAL 2CIUHIOIE X)) (EX) 66,322 64,906 1,416
= 33, 161
== 13,265
Al 19,8%
307 212+01™ 66,322 64,906 1,416
= 33,161
= 13,265
Al 19,89%6
02 QIS EX 66,322 64,906 1,416
OXESAH ZOUI0IH X2 &4
66,322,000 66,322
= 33,161
= 13,265
Al 19,8%
ANZ MHESAHE 2SHIXA(2X) 50,000 50,000 0
< 15,000
Al 35,000
307 212+01& 50,000 50,000 0
& 15,000
Al 35,000
02 2IZHBHAIHE £ 50,000 50,000 0




A B2
B RgHE g Us)
chel: g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONZ TREAE 298] X2
50,000,000& 50,000
= 15,000
Al 35,000
MOIESXIEX R &&z(EX) 3,000 4,500 1,500
== 1,500
Al 1,500
301 22N 3,000 4,500 21,500
[ 1,500
Al 1,500
04 gstsdstis 3,000 4,500 21,500
OMOISRIER A HEts
3,000,000& 3,000
= 1,500
Al 1,500
5|2 Us JHEESAE KR (EX) 2,700 3,000 A300
s 810
Al 1,890
307 212+01& 2,700 3,000 A300
[ 810
Al 1,890
02 IHB A HE L 2,700 3,000 2300
032 U= IIESAE X2
2,700,000& 2,700
= 810
Al 1,890
XOpte IEE MssSAE 2S(2X) 5,000 5,000 0
=S 1,350
Al 3,650
307 21201 & 5,000 5,000 0
< 1,350
Al 3,650
02 2B HAHE L 5,000 5,000 0
OO0t XEE MsSAME N
5,000,000& 5,000
= 1,350
Al 3,650
SHAIGESAIE HE 3,216,000 3,216,000
401 AIEHIX 20HH 3,216,000 3,216,000
01 A28l 3,207,670 3,207,670
OSHAINESAHAE A
2,307,670,000& 2,307,670
OZ AR SAME HE (28 SEWR
N 282) 900,000,000 900,000
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1 EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ 0|8 BEYR0 HE XA
360,000 360
OESNAHH 28 =X A998
1,000, 0002 1,000
OZ2x LEXE MEX A5
9,000,000& 9,000
04 =NI2t01H] 102,500 102,500 0
Ooll2l d&L At 82,500,000& 82,500
Oy o2 &S 20,000,000 20,000
303 Zal= 310,000 323,000 213,000
01 2= 310,000 323,000 213,000
O citsS atEdA Al & 24
5,000,000 5,000
OXAXH YARAEES= X2
275,000,000 275,000
OS+TE 24 thgeis
30,000,000 30,000
405 AtatE = 10,500 16,000 A5,500
01 TR =S FSHI 10,500 16,000 25,500
O=F AUaE =217 7Y
10,500,000 10,500
DEMEIIRH st 186,800 335,944 A149,144
DA RH Edst 186,800 335,944 A149,144
201 Ler23| 8,800 162,600 143,800
01 At2teltl 8,800 152,600 143,800
O eS| 3,000
OLEMEIIRN gRFA
3,000,000& 3,000
0=2g8+g 2,800
OJI==2842A-e 2+
1,200,000& 1,200
OEdESda?A= 3o
1,600,000& 1,600
O=EH| 3,000,000& 3,000
202 04| 3,000 3,000
01 SLHoIH 3,000 3,000
OLEMNEIIZN LR
3,000,000& 3,000
301 LEtE N = 175,000 175,000
14 DBt 2 a3 175,000 175,000
OLEAEIIZH eS|
150,000,000 150,000
OOEAZI RN Sl X2
25,000,000 25,000
e =24 428,583 420,083 8,500
AXIdE2E 428,583 420,083 8,500
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SN BRD
M FUXANE 29
eelr FUAXNNH2S (SH9 H2)
LA BRAE) - RN - BAS of v e HIDE2
FOITRIMEI 2 428,583 420,083 8,500
1 2et2dy] 179,900 169,900 10,000
1 A2l 87,900 87,900 0
oO2et=ZH| 24,900
OFRRXIME 2H(19H SHS)
24,900,000 24,900
DR 63,000
OFRITRIAA BIAFA +g
20,0002 *450H 73] 63,000
02 S3=4gHl 25,000 25,000 0
023232 HAl 15,500
OxUXIHEH B32= &
15,500,000& 15,500
OAlE &I X 9,500
OFEIXXIHE AMEEHIRA S
9,500,002 9,500
03 A2 Y| 67,000 57,000 10,000
OSPIS F0ITX JISs A2(SMAI)
50,000,000 50,000
OFUXNXEZ2Y B3 2
2,000,000& 2,000
OF2UAXAEY AAS 5,000,000& 5,000
OF2URR oehs] ot &= A
10,000,000 10,000
202 04| 983 983
1 =0l 983 983
O=2NREE SRFA 983,000 983
1 2etEd=s 222,700 224,200 21,500
1 ALREIXIZE S 41,800 41,800 0
O&==RUXSEE S St
60,0002 +802 *13] 4,800
OFURNR?A SEHs & NIHEBH 2
37,000,000 37,000
4 JIE2 8= 180,900 182,400 21,500
OFURREEH Z208 2 (ZAHI)
180,000,000 180,000
OFUAXAE SELtUs DA
900,000 900
405 AtatE = 25,000 25,000
01 TR ESFSHI 25,000 25,000
OF2IANEH 2EE2S 7
25,000,000 25,000
JHI(Z2) 118,019,530 121,684,257 A3,664,727
= 26,704
Jl 25,500
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SN B2
M HZYRAZH(ZRM)
ool QIARAH|(BZ) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 265,903
Al 117,701,423
olARAH|(EE) 117,752,140 121,443,057 A3,690,917
= 26,704
Jl 25,500
= 265,903
Al 117,434,033
QIA2HHI(SS) 9,829,124 98,246,425 21,417,301
101 @1A4H| 92,016,828 94,825,040 A2,808,212
01 2= 72,719,030 74,705,966 1,986,936
OJI2s 44,141,174
OAIE(HASHI) 102,983,000& 1 102,983
ORAZ(HASHI) 96,030,000 1 96,030
O4=(=SH) 96,030, 000& 6 576,180
O5=(EH) 85,054,000& x57& 4,848,078
063 (258) 4,128,700 «332& » 122 16,448,741
07282 3) 2,668,400 «203& 122 9,382,095
082(453) 2,015, 7002 «260 128 6,288,984
09=(353) 1,821,500 x 138 122 3,016,404
OXl=2(ASHI) 92,897,000 x3H 278,691
OXEAH1BES) 3,518,600 x38E « 12& 1,604,482
OHFAH15ES) 3,512,900 «4E 12 168,620
oX2IHA Lh2(053)
4,221, 2008 «6H 123 253,272
(OPJ1=—r=>SE¥/ Ealall
43,064,560,0002 #2. 5% 1,076,614
002 4,460,493
Ol B e RS 434,852
5= 5,140,600 =2 * 12 4. 1% 5,059
62 4,128,700« 153& «12& 4. 1% 310,793
-2 2,668,400 «59B 123 +4. 1% 77,459
-A2Ab 3,512,900 «3H 122 %4 1% 5,186
KIS At 3,518,600 «21H 122 +4. 1% 36,355
od==+¢ 3,186,601,000& 3,186,601
0d2+g M= 839,040
25504 130,000& x300E « 12& 482,040
-2001 & 110,000 x53 « 122 69,960
-1501 & 80,0003 x 1232+ 122 118,080
-10E01 & 60,0002 x93 122 66,960
58014 50,0003 x170E~12& 102,000
OB 28 g 1,399,222
OtEd 1,039,222
- <Xt 40,0002 %1, 138H x 122 *40f% 218,4%

_18_




2N &2
M HHRAAYI(SLD)
Chel: QIE2IH(B) (e @
- = qE|
A -3 - A4A(3H) - MRAY - BES 04| &keH OE”E& Hln=2
L PE 30,0002 %1, 1382 x 122 % 110% 450,648
-SM Xt 70,0002 %1, 1382 x 122 x30% 286,776
~MTWKHAOI 4 =D
110,000 %1, 138 * 122 5% 75,108
-JIERDE 20,0002 1, 1382 * 122 3% 8,1%
OS0I5&LE 1,500,000 *20% * 122 360,000
0SE4224% 1,054,885
ofEaReY 10,680
M2 Qe SIHER(SE)
50,0002 12 x 122 600
~HI| 2RI SHRR(YS)
40,0002 x21H « 122 10,080
oJledesy 212,400
52 50,0002« 14« 122 8,400
6=2~72 30,000 %170 « 122 61,200
-8=2~92 20,0002 x 179 * 128 42,960
-XlE 2 60,0002 %32 * 122 2,160
NN 50,0002 x34H « 122 20,400
S NEE NI =1GIEIN|
50,0002 12 x 122 600
-K&AS ORIZOISHE,JIA
30,0002 x 163 * 128 58,680
-XHAS D2 (AEIIAL
20,0002 x75% * 122 18,000
022 URLE 140,616
-o|2AH 818,000 « 1+ 128 9,816
0|2 ¥ A5NY
50,0002 «63% * 128 37,800
-SAXNS 250,000 *25% * 122 75,000
—4=0| & 500,000 «3% * 122 18,000
ogiRag 80,0002 x42 x 122 3,840
oX+Y 12,960
“MYDIKelE S
270,000 «4% + 122 12,960
OELXDLE 584,880
-0I2AHD A 50,000 x67H * 122 40,200
-AMAEBL2E (620l0l)
20,0002 %02 » 122 2,160
S0Hs 22
70,0002 *333%H * 122 279,720
O At 18,240
= 100,000 x 12 %122 1,200
= 80,0002 22 x 122 1,920
= 60,0002 +x6% * 122 4,320
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2N SR
M S| (Z2D)
Cel: QIHARHHI(E2) (cre|: &9
K- BB S(BI) - HISAY - BES Ofl by e MimE=E)
720/t & 22 2gH
50,0002 182 128 10,800
~ANEI= T e
70,000& x 154 x 128 129,360
-ASIEXER24E Ja2
30,0003 x125H x 128 45,000
~AZHAER =G
150,000 *30Y 128 70,200
OYRCHH Y 200, 00024 10% 122 24,000
opzlYRLd
,0654, 7002 x 12 128 * %% 65,509
OAI22 22 4EH (LB AL} 8,557,555
OAIZIZ2E 6,652,575
-5= 14,6023 x2H x 128 45 A| 21 15,868
6= 12,5312 *x332H 122 x45A| 2+ 2,246,558
-= 11,3193 x203H 12 x45A| 2+ 1,790,893
-8 10, 162& x260H x 122 x45 A| 2+ 1,426,745
= (H2FZ LS
9,620 *138H x 12& *45A| 2+ 716,883
-M2FE2 (L)
11,8623 x5 * 12& 45 A| 2+ 32,028
-XISAH21S 20| 4t
11,8162 x20H * 12& +45A| 2t 127,613
-XIZAH20S 20I58})
11,0743 x 182 x 122 x45A| 2+ 107,640
~ATZAF 12,0783 x4H 128 45 A| 2+ 26,089
- & 6,490,312,380& *2.5% 162,258
OAIZIQ 224 (2N AR 597,780
6= 12,5312 x20H 12 *72A| 2t 216,536
= 11,319 x23H x 128 +72A| 24 224,932
= 10, 1623 x 10H * 12 +72A| 24 87,800
=2 (H LR LS
9,620 *4H * 12 x72A| 2t 33,247
-NEHF2(LID)
11,8623 x 1Hx 12 #72A| 24 10,249
~ATZAF 12,0783 x 12 * 128 +72A| 24 10,436
-4 H| 583, 197, 408& *2. 5% 14,580
OHIAZ2 (Mo, ML S)sd224E 147,600
= 90,9853 *10H x50 45,493
8= 81,685 x5 50 102,107
ORHZRALE 50,000 *16Y~12& 9,600
OYUE RS 115,000,000 * 10H 1,150,000
OZAZAH|(HEM EE)
140,000 *1, 138H * 12& 1,911,840
OEUSAIH|(AIE) 140,000& x 128 1,680




2A: SR
. #ReHAY|(E2D)
ool QIARAH|(BZ) (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OIS ESII(HSH Mel)
3,823,922,000& 3,823,922
OAIIBAHI(AME H2l) 738, 139,000& 738,139
O =22H| 2,754,120
OAIE 500,000 x1Z = 12& 6,000
ORAE 450,000 x 15+ 12& 5,400
043, A& (434)
400,000 x7E+12& 33,600
053, N & (534 )
250,0002 x59H = 123 177,000
062, ARAH X SAL B ZZ S 2L
185,000 *379Y = 12& 841,380
o7s 180,000 *293% = 123 632,880
08,92 175,000 *398F = 123 835,800
O=SLAHFI A NIAZSRE
300,000 x 18 = 12& 3,600
OUEXNLRXICHH IASR
1000002532+ 128 3,600
OFFE(AALB)
180,0002 x11H 123 23,760
OFAA(2Y BF)
175,000& *318 + 12& 65,100
OaRrS 175,0002 x60H 123 126,000
OEHA03 3,876,000,000& 3,876,000
02 JIEt& &2 6,252,678 6,168,743 83,935
OJ2= 1,564,843
0300/ & (8SS)
4,342,500 x38 + 12& 156,330
0238 ~30E0|2H245 )
3,899,400 x8H + 12& 374,343
0154 ~23E0|2H( 185 2)
3,187,100 x8F + 122 305,962
0154 0I12H 115 S)
2,528,500& x24H 12 728,208
OX <Al 1,564,843,000& *2. 5% 39,122
[ DESEmt = 130,403,583& 130,404
OE2+Y Itz 41,040
02540] 4 130,000 118+ 12& 17,160
0204 0[ 4 110,000 2+ 12& 2,640
O15&E014 80,0003 6 =123 5,760
o10&014 60,0003 x99 =123 6,480
ObH0| & 50,0003 *158 *12& 9,000
OZAZ Al 140,000 43+ 12& 72,240
OZEZOty| 156,485,000& 156,485
OS2 4| 30,428,000 30,428
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SN B2
M HY2AHH(SRD)
ool QIARAH|(BZ) (S &S
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OEY 44,242
Ot Xt 40,0002 *43% * 12 x50% 10,320
O MAHA 30,0002 x43H 122 *130. 8% 20,248
OSMAtH 70,0003 *43H * 128 x30% 10,836
OAMHAHAOIA =Dt
110,0002 *43% * 122 x5% 2,838
OZ=sit==g 3,720
OUH& 50,0003« 1H 123 600
ogty 40,0003 x2Z 128 960
OXxE 30,0002 6B+ 12& 2,160
OZ 2R (F2AH2RA) 375,618
OAlIZIeI 2R+
11,8373 x22B x 122 45 A 2+ 140,624
OZU2RLH(HLZRA) 234,994
o 2fse
31,5683 *21H *3652 *50% 120,985
-SY2fY
4, 4173 x21B x 1152 x50% 114,009
O3 22| 1,814,962,000& 1,814,962
OAIZHSERI(LE CH 2t 0rg) el 24l
1,979,574,000& 1,979,574
03 SR (RIHL) 22X 13,045,120 13,950,331 A905,211
Oz BREZZX 5,677,378
oJI22(2s8)
2,234,902 x123H + 128 3,298,846
oanza 2,234,990& * 123 *200% 549,808
O&FHZAIH| 140,000 * 123+ 122 206,640
xR 100,000 *1238 = 12& 147,600
osEe 171,365
- <kt 40,0003 *123H 12 *78% 46,052
o PNE 30,000 123 x 122 *148% 65,535
=7 PE 70,0003 * 123 122 *50% 51,660
“SITH KA O] &
110,000 123 * 123 *5% 8,118
OZEEZII 2,234,990& * 123 *120% 329,885
OAZt2I28Y
22,3903 *123H+12& = 19A| 2¢ 627,906
O 119,440 x 123 x9 132,221
O XS IHH| 5,464,271,000& *3. 9% 213,107
ouz 3224 1,513,622
oJlez(17e8) 2,375,320& x30H x 12& 855,116
o=z 2,375, 3203 30 *200% 142,520
OZUMZAH| 140,0002 *30H « 122 50,400
[OFSgeapSycEat=y 70,0003 *30F «12& 25,200




SN B2
M HZYRAZH(ZRM)
ool QIARAH|(BZ) (S &S
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oflg=¢ 50,0002 x30E «12& 18,000
O = 100,000 x30& + 122 36,000
OJtE=¢ 41,796
BN} 40,0002 x30E « 12 »78% 1,232
LU PE 30,0002 x30& * 122 » 148% 15,984
B LUPE 70,0002 *302 » 122 x50 12,600
el PUE P,
110,000 x302 12 #5% 1,980
OAlZtAZ2+E
23,6703 x30E 12 «20A| 2t 170,424
OgESFIHI 2,375,320 «30E *120% 85,512
O Xt 126,240 x30F 0 34,085
OX <INt 1,459,053,000& %3.74% 54,569
Otz SRH2Z2T 549,861
oJ12a(1783) 2,375,320 x10E~12& 285,039
oal= 2,375,320 *10H200% 47,507
OgZESFIHI 2,375,320 *10E*120% 28,504
OFAZAHI 40,0002 x10& 128 16,800
OS2 150,000& x10&«12& 18,000
oflg=¢ 50,0002 x10E «12& 6,000
o&R=d 100,000& «10E =122 12,000
OJtE=¢ 13,932
BN} 40,0002 x10E* 123 »78% 3,744
LU PE 30,0002 x 10 * 122 »148% 5,328
B LUPE 70,0002+ 102 » 122 x50% 4,200
—SUM KHA Ol 2
110,000 x 102 123 +5% 660
OAZeIRD g 9,89
ECEC R
23,6703 * 102 * 123 «20A1 2+ 56,808
-FEI2eE 189,3602 x10H 18 34,085
OgXt+=& 126, 2403 x10E 9 11,362
O XM &HI 530,037,000& %3.74% 19,824
OE30I15H2 5,304,259
oJlEe(2158) 2,030,380 x74E « 12 1,802,978
OS+g=2d 150,000 +74E+12& 133,200
oXgdA+rg 70,0002 x74H* 122 62,160
oJ|g=g 2,640, 3803 *74E x200% 390,777
ogd==¢ 2,640,3803 x74H 23| x50f% 195,389
OHXl= eyl 2,640, 3803 *74E 250% 488,471
OJtE=¢ 103,008
BN} 40,0003 x74 B+ 12 *78% 27,706
LU PE 30,0002 74 * 122 »148% 39,428
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2N SR
M S| (Z2D)
Cel: QIHARHHI(E2) (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
-= M At 70,0003 *74% *12& *50% 31,080
U DNIETVPNEE=w]}
110,000& 74 %12 x5% 4,884
O™ MZAM| 140,000& *742 x 128 124,320
OJAIE | 110,0002x74H 128 97,680
OnEEXH| 140,0003 *74H 122 124,320
OYZE=EIHI 2,640, 380 *74H % 120% 234,466
OAIZ2H =S
27, 3103 x74H 128 x40 A| 2+ 970,052
o022 218,520 x74H x 18 291,069
OHXREE IS
145,680 749! 97,023
[opsE=y] Falsll 5,115,003,000& *3. 7% 189,256
204 AR LA 837,415 755,340 132,075
01 M ZIHR-HHH| 140,100 138,900 1,200
OAIE 975,000& x 1~ 12& 11,700
O2AIE 600,000& x 15~ 12& 7,200
042 J12E(2H) 350,000& x4 12& 16,800
042 D12 BHAL sAHIISHEAE)
400,000& x2H*12& 9,600
042 EXI|Z(23IAIR2)
350,000& x 1~ 12& 4,200
Oh=2 EXD|2(=2H)
100,000 x26&H x 128 31,200
052 EXD|2 (23], HM2AS)
100,000& 2 x 128 2,400
O52 BEXD|2H(EAL)
100,000& *3H x 128 3,600
052 EXD|2(s)|=HH)
100,000 6« 128 7,200
O52 BXRD|2 (A A)
100,000& 2 x 128 2,400
O52 BEXD |2 (SHEE)
150,000& *19H x 12& 34,200
62 23 M2/ 50,000 x1&x12& 600
062 FSHE 50,0003 *15H*12& 9,000
02 SEEREH| 747,315 616,440 130,875
OU2 g =H|(630l0t, #H)
50,0003 *x871& x 128 522,600
OAIZHEEIRHIAD Ml CHel &= H|
50,000 *39H * 12 x87 . 5% 20,475
OULIE=sH|(B2RA)
50,0002 *168% = 12& 100,800
OSAME A= SH|
200,000& x2H+ 12& 4,800
OOISSUIIS HeE S|
50,0003 x 1+ 122 600
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